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(@ Study Figure 4.

Assess the kel impacts of changing precpitation on the hydrolo
inthe drainage basins shown.
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Figure b Predicted change in annusl precipitation levels by 2050
‘and selected drainage basins.
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(6) Evaluatethe view that some approaches to managing water insecurty are more
sustsinable than others.
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SECTION C: PHYSICAL SYSTEMS AND SUSTAINABILITY
Answer ALL questions in this section. Write your answers in the spaces provided.
You must use the Resource Booklet provided.
4 Study Figure 4A.

(@) Explain one reason why over-abstraction of groundwater could become a
problem for Area A.
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SECTION C

‘The following resource relates to Question 4.
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(b) Explain why river regimes might vary between basins.
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() Explain how physical and human factors contribute to an increased risk of water
insecurity.
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